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% 1- Relate luminous intensity to illuminance. Student Book 0
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1- Describe white light as a combination of the spectrum of colors, each having a different wavelength. Student Book 101547
2- Describe primary, secondary, and complementary colors of light and the effects of corresponding combinations.
3- Describe the properties of an image formed by a plane mirror.

4- Describe the types and properties of spherical or curved mirrors.
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1- Apply the mirror equation to calculate the image distance, the object distance, or the focal length of a spherical mirror Student Book 314
18 |using appropriate algebraic signs for focal length and corresponding distances.
2- Calculate the magnification produced by a spherical mirror. 014-017, Q18-022, 024-029, 094 15,46,41,54
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1- Describe total internal reflection and the conditions under which total internal reflection takes place.
2- Draw a ray diagram (using at least one light ray that is parallel to the principal axis and another ray that passes or appears
19 |to pass through the focal point) to find the image of an object located at different distances from a convex lens [greater

than or equal twice the focal length, between the focal length and twice the focal length, and smaller than the focal length), (Q10-Q12, 086; Q19, 023, 028, 062,
and determine the location and properties of the formed image. Q65

Student Book 62-63; 6769

65,83;71,73,81
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1- Apply Hookefs law to calculate the force exerted by a spring, the spring constant, or the distance by which a spring is Student Book B4l
0 stretched or compressed.
2- Solve problems related to an oscillating mass . spring system and a simple pendulum to calculate different physical 044-047, 09, 092-0%3, 035, Q1-
quantities (velocities, kinetic energy, potential energy, period or length of simple pendulum...), o 108,110,113
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